
5056693518426
PULL OUT SOFA

30

188 cm

143 cm

7
5
 c

m

77 cm



Part Description Image Qty 

A 
 

1 

 

Right legs

B 1 Left legs

 C 1 Backrest

 D 1 Seat 

E 6 Front legs

F 2 Mid legs 

1 4 Bolt M8x50 

G 3 

H 3 

2 4 Screw M7x70 

3 16 Screw M6x20 

4 2 Screw M6x40 

5 2 Allen Key

Back cushion

Seat cushion



2 

3 

3 

3 
3 

3 

3 

3 

E 

E 

E 

E 

F 

F 

D 

2 

2 

2 

1 

1 

1 

1 

1 

1 

1 

1 

B 

A 
C 



Step Three

Step Four

G 

4 

4 

H 

G G 

H 
H 












	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

